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AFNE =[] BRER 1 640
AR [=[{EIF] aaR 2 894
AR S35 ENEES 4 2360
AFNE X Ehe 4 1528
AF0EE S35 =N 1 519
AFNE X FXP 1 519
AR S35 ESnT] 2 1360
AR S35 HHRE 1 400
AR S35 f535) 1 369
AFNE SXMN N 1 500
AF0E vl SRKIEoL 1 660
AFNE S FEBRIR 2 1280
AFNE S HE) 1 660
AFNE S = 1 560
AFNE S BT 3 1801
AF0EE S ISET 2 1150
AT S KiEE 2 1120
AFNE S L] 1 602
AFNE S BN 2 920
AFE Pl E e 2 1430
AFNE S (iG] 1 670
AF0EE S AR 1 535
AFNE Pl BESK 1 645




A0 X ENRg 2 1146
A0 X JeTTIE 3 1920
A0 X BPA= 2 1120
A0 X BAS 1 560
A0 X LEk 3 1651
A0 X PR 2 1200
A0 X XBITEA 1 575
AR X FRERRI 1 570
A0 SXN il 2 1050
A0 X [EES 1 560
A0 X ENES 1 470
A0 X [BES 2 1150
AFOE X BENE 2 1120
AFOE X sl 2 1000
AFOE X IR 1 570
AFNE SXMN wiRia 2 1090
AFOE X SR 2 1160
AFNE SXMN = 1 484
AFOE X R 1 510
AFOE S35 SEIKE 1 484
AFOE X ESnS 2 1160
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